Individual Meet Entries Report

Team Photos with Santa 2019 07-Dec-19 SC Meters Location: Brookfield Residential YMCA at Seton

OKOTOKS MAVERICKS SWIMMING [MAVS] Coach: Todd Melton

Box 356

Okotoks, AB, T2S 1A6

www.okotoksmavericks.com

FEMA	LE				
Nina B	ernhardt (8)		# 7E	Female 10-10 100 IM	1:43.51S
# 1A	Female 8 & Under 100 Free	2:14.47S	# 11E	Female 10-10 100 Back	1:35.14S
# 5A	Female 8 & Under 50 Back	56.69S	Camryr	n Jones (11)	
# 6A	Female 8 & Under 25 Breast	NT	# 3G	Female 11-11 100 Breast	1:55.76S
# 12A	Female 8 & Under 50 Free	54.91S	# 7G	Female 11-11 100 IM	1:44.59\$
Kassie	Burton (9)		# 9G	Female 11-11 50 Breast	52.98\$
# 2C	Female 9-9 50 Fly	1:04.98S	Peyton	Jones (9)	
# 5C	Female 9-9 50 Back	50.81S	# 2C	Female 9-9 50 Fly	46.09S
# 9C	Female 9-9 50 Breast	59.14S	# 7C	Female 9-9 100 IM	1:43.95\$
Keira D	Diakiw (7)		# 11C	Female 9-9 100 Back	1:50.54S
# 1A	Female 8 & Under 100 Free	2:27.67S	Peyton	Klinck (9)	
# 5A	Female 8 & Under 50 Back	1:10.42S	# 1C	Female 9-9 100 Free	2:01.27\$
# 6A	Female 8 & Under 25 Breast	45.00S	# 3C	Female 9-9 100 Breast	2:50.00S
# 12A	Female 8 & Under 50 Free	1:03.97S	# 5C	Female 9-9 50 Back	59.34S
Claire I	Finlayson (9)		# 10C	Female 9-9 25 Fly	35.85S
# 1C	Female 9-9 100 Free	1:58.91S	Katheri	ne Kohn (9)	
# 3C	Female 9-9 100 Breast	2:50.00S	# 2C	Female 9-9 50 Fly	48.39S
# 5C	Female 9-9 50 Back	53.84S	# 7C	Female 9-9 100 IM	1:40.64\$
# 12C	Female 9-9 50 Free	48.78S	# 11C	Female 9-9 100 Back	1:39.32S
Zoe Ga	igne (9)		Alyssa	Linton (8)	
# 1C	Female 9-9 100 Free	2:04.82S	# 1A	Female 8 & Under 100 Free	2:17.90\$
# 5C	Female 9-9 50 Back	1:00.60S	# 5A	Female 8 & Under 50 Back	1:03.76S
# 6C	Female 9-9 25 Breast	45.00S	# 6A	Female 8 & Under 25 Breast	45.00S
# 12C	Female 9-9 50 Free	53.84S	# 12A	Female 8 & Under 50 Free	1:02.63\$
Gianna	Hnidey (10)		Lauren	Livingstone (11)	
# 1E	Female 10-10 100 Free	2:05.83S	# 1G	Female 11-11 100 Free	1:31.02S
# 5E	Female 10-10 50 Back	1:00.37S	# 7G	Female 11-11 100 IM	1:45.128
# 6E	Female 10-10 25 Breast	45.00S	# 9G	Female 11-11 50 Breast	48.27S
# 12E	Female 10-10 50 Free	55.17S	Madiso	n Meikle (10)	
Cora H	unter (11)		# 1E	Female 10-10 100 Free	1:48.34\$
# 2G	Female 11-11 50 Fly	41.14S	# 3E	Female 10-10 100 Breast	2:33.35\$
# 5G	Female 11-11 50 Back	41.13S	# 7E	Female 10-10 100 IM	2:10.00S
# 12G	Female 11-11 50 Free	34.55S	# 12E	Female 10-10 50 Free	46.62S
Leah H	lunter (9)		Amelia	Myles (8)	
# 1C	Female 9-9 100 Free	1:45.15S	# 1A	Female 8 & Under 100 Free	2:29.90S
# 3C	Female 9-9 100 Breast	2:30.72S	# 5A	Female 8 & Under 50 Back	1:16.64\$
# 7C	Female 9-9 100 IM	2:10.00S	# 6A	Female 8 & Under 25 Breast	45.00S
# 10C	Female 9-9 25 Fly	33.99S	# 12A	Female 8 & Under 50 Free	1:00.53S
	Hurd (8)			Pillay (7)	
# 1A	Female 8 & Under 100 Free	2:26.61S	# 1A	Female 8 & Under 100 Free	2:40.52\$
# 5A	Female 8 & Under 50 Back	1:09.98S	# 5A	Female 8 & Under 50 Back	1:10.95\$
# 6A	Female 8 & Under 25 Breast	45.00S	# 6A	Female 8 & Under 25 Breast	45.00S
# 12A	Female 8 & Under 50 Free	1:09.45S	# 12A	Female 8 & Under 50 Free	1:04.59\$
	James (9)			lesky (7)	
# 2C	Female 9-9 50 Fly	1:11.05S	# 1A	Female 8 & Under 100 Free	3:05.82S
# 3C	Female 9-9 100 Breast	2:06.53S	# 5A	Female 8 & Under 50 Back	1:14.44S
# 12C	Female 9-9 50 Free	47.76S	# 6A	Female 8 & Under 25 Breast	45.00S
	te Johnston (10)	7 00	# 12A	Female 8 & Under 50 Free	1:15.96\$
# 2E	Female 10-10 50 Fly	59.68\$	" 1211		1.13.705

Individual Meet Entries Report

Team Photos with Santa 2019 07-Dec-19 SC Meters
OKOTOKS MAVERICKS SWIMMING [MAVS] Coach: Todd Melton

FEMAL	E	
Grace Ri	iley (10)	
# 1E	Female 10-10 100 Free	1:59.48S
# 3E	Female 10-10 100 Breast	2:01.61S
# 5E	Female 10-10 50 Back	58.93S
# 9E	Female 10-10 50 Breast	57.18S
Violet Ro	ockley (9)	
# 1C	Female 9-9 100 Free	2:27.50S
# 5C	Female 9-9 50 Back	1:07.03S
# 6C	Female 9-9 25 Breast	45.00S
# 12C	Female 9-9 50 Free	1:05.68S
Kierra Si	kora (11)	
# 2G	Female 11-11 50 Fly	52.66S
# 3G	Female 11-11 100 Breast	1:57.94S
# 7G	Female 11-11 100 IM	1:47.93S
Lily Siko	ra (9)	
# 3C	Female 9-9 100 Breast	NT
# 5C	Female 9-9 50 Back	58.15S
# 7C	Female 9-9 100 IM	2:50.00S
# 10C	Female 9-9 25 Fly	33.14S
Hailey Th	niele (10)	
# 4E	Female 10-10 25 Back	34.53S
# 7E	Female 10-10 100 IM	1:30.55S
# 11E	Female 10-10 100 Back	1:29.55S
Chloe va	n Meenen (9)	
# 1C	Female 9-9 100 Free	2:24.84S
# 5C	Female 9-9 50 Back	1:12.63S
# 6C	Female 9-9 25 Breast	45.00S
# 12C	Female 9-9 50 Free	58.94S
Hudsyn \	Watt (10)	
# 2E	Female 10-10 50 Fly	52.49S
# 7E	Female 10-10 100 IM	1:47.47S
# 9E	Female 10-10 50 Breast	53.18S

Individual Meet Entries Report

Team Photos with Santa 2019 07-Dec-19 SC Meters
OKOTOKS MAVERICKS SWIMMING [MAVS] Coach: Todd Melton

MALE		
	iokiw (10)	
# 2F	iakiw (10) Male 10-10 50 Fly	45.54S
# 7F	Male 10-10 30 Fly Male 10-10 100 IM	1:40.53S
# 10F	Male 10-10 100 lM Male 10-10 25 Fly	23.80\$
	ardner (7)	23.803
# 1B	Male 8 & Under 100 Free	2:39.51S
# 1B # 5B	Male 8 & Under 50 Back	1:09.92S
# 3B # 8B	Male 8 & Under 25 Free	27.94S
# 12B	Male 8 & Under 50 Free	1:04.77S
	Harrison (9)	1.04.775
# 1D	Male 9-9 100 Free	1:36.84\$
# 5D	Male 9-9 50 Back	48.82\$
# 7D	Male 9-9 100 IM	2:10.00S
# 9D	Male 9-9 50 Breast	1:03.36S
	Hurd (10)	1.00.000
# 1F	Male 10-10 100 Free	1:36.25\$
# 5F	Male 10-10 50 Back	46.998
# 7F	Male 10-10 100 IM	2:06.80\$
# 12F	Male 10-10 50 Free	41.15S
Rvlan K	ohlruss (9)	
# 1D	Male 9-9 100 Free	1:59.53\$
# 5D	Male 9-9 50 Back	58.82S
# 6D	Male 9-9 25 Breast	45.00S
# 12D	Male 9-9 50 Free	51.648
Ethan La	ake (10)	
# 4F	Male 10-10 25 Back	30.76S
# 5F	Male 10-10 50 Back	41.16S
# 11F	Male 10-10 100 Back	1:29.26\$
Clayton	Lindenback (11)	
# 4H	Male 11-11 25 Back	24.13S
# 7H	Male 11-11 100 IM	1:26.85\$
# 10H	Male 11-11 25 Fly	30.47S
Mychael	l Lindenback (11)	
# 2H	Male 11-11 50 Fly	37.58S
# 6H	Male 11-11 25 Breast	24.01S
# 9H	Male 11-11 50 Breast	45.82S
# 10H	Male 11-11 25 Fly	20.47\$
Jude Me	elton (10)	
# 1F	Male 10-10 100 Free	1:48.77S
# 5F	Male 10-10 50 Back	48.48\$
# 7F	Male 10-10 100 IM	2:10.00S
# 9F	Male 10-10 50 Breast	1:08.96S
	acitti (10)	
# 1F	Male 10-10 100 Free	1:48.71\$
# 3F	Male 10-10 100 Breast	2:41.68\$
# 5F	Male 10-10 50 Back	53.598
# 12F	Male 10-10 50 Free	47.12S
	etrovic (9)	00.5-
# 1D	Male 9-9 100 Free	2:24.52\$
# 5D	Male 9-9 50 Back	1:07.618
# 6D	Male 9-9 25 Breast	45.00\$
# 12D	Male 9-9 50 Free	1:00.03S

Liam Pilla	y (10)	
# 1F	Male 10-10 100 Free	1:33.49S
# 3F	Male 10-10 100 Breast	1:52.29S
# 10F	Male 10-10 25 Fly	26.84S
Gherman	Rekshta (9)	
# 1D	Male 9-9 100 Free	2:12.71S
# 5D	Male 9-9 50 Back	1:09.03S
# 8D	Male 9-9 25 Free	22.69S
# 11D	Male 9-9 100 Back	2:45.00S
Cole Ron	ning (9)	
# 1D	Male 9-9 100 Free	1:38.89S
# 5D	Male 9-9 50 Back	50.418
# 7D	Male 9-9 100 IM	2:16.14S
# 12D	Male 9-9 50 Free	42.50S
Parker Va	ın Der Westen (8)	
# 1B	Male 8 & Under 100 Free	2:14.66S
# 5B	Male 8 & Under 50 Back	1:01.90S
# 9B	Male 8 & Under 50 Breast	1:31.09S
# 12B	Male 8 & Under 50 Free	58.44S
Declan W	'est (8)	
# 1B	Male 8 & Under 100 Free	1:44.93\$
# 5B	Male 8 & Under 50 Back	49.66S
# 6B	Male 8 & Under 25 Breast	45.00S
# 11B	Male 8 & Under 100 Back	1:56.958

Individual Meet Entries Report

Team Photos with Santa 2019 07-Dec-19 SC Meters
OKOTOKS MAVERICKS SWIMMING [MAVS] Coach: Todd Melton

	Female IE's:	101
	Male IE's:	60
	Total IE's:	161
7	Total Athletes:	44